Question 4 (LR A2 - 15 marks
The functions f, g and & are defined hy
flz) =explz =21,
=) = Log(=" — 7).
hiz) =+ 27
[a] WWrite down the domain of each of the functions f. § and . {3

by Let o =14 Evaluate each of the fanction walues flal. gia . hla) giviag
your angwers in Carsesian form. (3]

i) i) Solve the squaricn
Log(z® =2] =0,
fii) Explain briefly why the functivn g does not have an inverss function

Tu . ' fi
i} Show that the restriction of the function g to che sedf:: Rez > 0} doses
have an inverse function 7]

Question 3 [ 450 = 15 marks

{a] For each of the following sequences, decermine whether the sequénce converges,
and. if it doed, find rhe limir.

i 1 f1=437]
1) — | —— [
L 4

o2
i) {eos(=i")] (6]
(hy (1 Wrte down the domain 4 of the funceion
|
fE=10y

amd show that 3 1% a limid pomnc of A

{il] Evaluate

———a
TR |

R i)
T—h 1.' =3

giving vour answer in Cartesian form. and justifning your mechod. {9l

Question & (Lnt AS) = 10 marks
Let 4 = {=|=] =2}
fa) Skerch on separate diarramsd the sets
04 and exr 4,
aml stare for each of these sats whether or oot it 13
(il aTegion.

ril]  Eompact. {<£]

() Prove that ehie function fizh=

- i5 hasenledd om the ser Sol [3]
1+4e° 7 {

(r] Lecylz) = =7, Fird poines a and 3 in 84 such rhar

leel 33} £ Lgd =0} < |glad], for z € 94, L3}



